31A

-k

)

5)

6)

8)

(+5) +(-8) =-3
(-6) + (+3) + (-4) = -7

direction and magnitude

H2 = 62 + 82
H® =36+ 64
H? =100
H=10

opposite _5

=.3846

sin® = =
13

"~ hypotenuse

cose=m=ﬁ=.9231
hypotenuse 13

= Opposite = 5 =.4167
adjacent 12 °

tan 6

sin 6 =.3846
6=22.6°

H? =52 +102

H? = 25+100

H2 =125

H=4125 ~11.18 miles

W

tan6= 2

0 ~63.4°
11 miles, 63.4°

H2 =1002 + 402
H2 = 10,000+ 1,600
H2 =11,600
H =107.7miles
40 _ ,

fan=—
100

0=~21.8°
107.7 miles, 21.8°

(You could have used sin or cos
and gotten the same answer, as
long as you set the, ratio up
correctly.)

31B

1)

2)

4)

opposite
" hypotenuse
__adjacent
B hypotenuse
e opposite
adjacent

direction and magnitude
resultant
H2 =32 4172
H? =9+121
H? =130
H =130 = 11.40 miles

opposite 1

sin® = =——=.9649
hypotenuse 11.4

cogif= OJAON B onap
hypotenuse 11.4

tang=2PPOSite _11_ 5 oe67
adjacent 3

tan 6 = 3.6667

0=74.7°

H? =1002 +10?

H? =10,000+100

H2 =10,100

H=410,100 = 100.50 miles
10

tanf=——=.1
100

0°=5.7° 180 -5.7 = 174.3°

(+4) + (+2) = +6 on the X axis
(+3) + (+1) = +4 on the Y axis

H?=6°+42=36+16=52
H=452=7.21
tan0 =2 - 6667
6
0=337°

31C
1)  H? =302 +40?
H2 = 900 + 1600 = 2500
H= 2500 =50

tan6 =30 _ 4 3333
30

6=53.1°
50 miles, 53.1°

2) (+8) + (-5) = +3 on the X axis
(+2) + (+3) = +5 on the Y axis

H? =32 +5%=9+25=34
H=134 ~5.83

-5_
tano = 3 1.666

0 =59.0°
3) y-x2=0
y=x2
4) 2x+y<2
<-2X+2 |
e 4
1.72
l .IA
1%
v |

7)

10)

_5-(2)_-3__3

3-1 -4 4

2J-24 +3/8 =
2J46(1) +3J42 =
22i6 +32V2 =
4if6 + 642

X2 16X +64 =
(X-8)(X-8)=(X-8)

x2_2 x3-2
X__ X __

X—§ X2-3
X X

X% -2X-7=0
Xz 244-4(1(-7)
B 2(1)
X=21J§
2

"
x=2—‘~:~@:1i2\/§
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31D
1)

2)

3)

H2 =752 +125°
H? = 5625 + 15625 = 21250
H= 421250 ~ 145.77 miles
tano=12 _ 1 6667
75

6 =59.0°

(-4) + (-1) = -5 on the X axis
(+2) + (6) = +8 on the Y axis

H? =52 +8%2 =25+64

H® =89

H=489 ~9.43
_8_

tano = 5 1.6

o =57.99°
6 =180° - 57.99° = 122.0°

(+5 is used instead of -5 because distance

or length is always positive. There will be
mnra nn thie in PraCalrnihiie )

X2+Y2=16

5)

10)

4=1l+b

2
p=g L

2

1 1
=—X+2—
y 2X+ >
2012 2_2{6
Jio J2 |5
255 {5_2/%
55 5
BX2-X-2=

(BX - 2)(2X + 1)

1 1-2X
XS Tx_ _1-2X X _1-2X
4 4 T X T4 o4
X X

2X2 - 3X =2

2X2-3X-2=0

(2X+1)(X-2)=0

X=-12
2

31E

5
1) H2 =152 +302 = 225+ 900 )
H =1125
H=11125 ~ 33.54 feet
tano=3C=2
15
0~63.4°
33.54 .
63.4°
2) (-8) + (+2) = -6 on the X axis
(+6) + (-3) = +3 on the Y axis
H2 =62 +32 =36+9=45 6)
H=45 ~6.71
tano = g =.5
6
o = 26.6°
0 =180° -26.6°=153.4° 7)
3) X-Y2=0
X =Y2
8)
9)
4) IX=Y
X=Y2
10)

4X2 + 9Y2 = 36
ax? 9y?
—_—t—=1

36 36

d=v(6-(-2)) +(-3-17 =
J64+16 =80 =~ 8.9

4 6V2_4J3 610 _

—t—==—
V3 5 3 5
2043 +18410

15

10X2 + 23X + 12 =
(5X + 4)(2X + 3)

2C  7CB%
BAS ' AT
3A%c 2A%C
B2 g2
3
% +7A%B2C
B

3B2A%C -

+7A%B2C =

X2 +X+1=0

A 1-4( ()

e abl
2(1)
-14J-8 _-1£i/3

2 2
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